SAE XfHE=3

SAE SPLIT FLANGE CLAMP

h
KSR
KB V2L R <} DIMENSIONS JiC FH R A
PART NO. |FLANGE SIZE A B d h M N BOLT
3000PSI
FL-08Z 1/2" 54 45.6 9 6.2 38.1 17.5 M8X25
FL-12Z 3/4" 65.6 51.8 11 6.2 47.6 222 M10X30
FL-16Z 1" 70.5 58.4 11 75 52.4 26.2 M10X30
FL-20Z 1.1/4" 79 72.6 11 75 58.7 30.2 M10X30
FL-24Z 1.1/2" 94 82.2 13.5 75 69.9 35.7 M12X35
FL-32Z 2" 102 96.4 13.5 9 77.8 42.9 M12X35
FL-40Z 2.1/2" 115 108.2 13.5 9 88.9 50.8 M12X40
FL-48Z 3" 134.4 130.6 17 9 106.4 61.9 M16X50
6000PSI
FS-08Z 1/2" 56.8 47.2 9 7.2 40.5 18.2 M8X30
FS-12Z 3/4" 70.8 60 11 8.26 50.8 23.8 M10X35
FS-16Z 1" 81.15 69.6 13 9 57.2 27.8 M12X45
FS-20Z 1.1/4" 96.68 77.2 15 9.8 66.6 31.8 M14X50
FS-247 1.1/2" 113.38 95 17 12 79.4 36.6 M16X55
FS-32Z 2" 133 113.8 21 12 96.8 44.4 M20X70

Ve BCHHIER T S 4TiT 5. The bolt need ordered another.




	FL/FS

